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PART -1
General Mental Eligibility

1. Select the diagram which correctly L.

illustrates the relationship between
wheat, maize and grains.

"0

B
C-
T O
2. Which of the following figure will 2.
follow the series?
o —
! O ?
_ v
A Qo
X
{ o
B. o
O]
X ¥
ol [
X
=
D. To
x [
v

TTHT QTS T

I I 1 I L S TG, Heehl 3R
ATST o sfTer Geiel bl Wl &1 ¢ &9id &l

A.
B.

‘@

D O

(0) o

H=lTRad | | &9 |l 3Tl @ &l

SALHTT HTT
: = =
’ N a
v
A 1D
X
VO
B. O
L
X
¢ o
X
Oy
D 19
x [
v

SPACE FOR ROUGH WORK / T% &1 & ford 57T

20362-MYWLN-PRV-XFYX-E 3

46 Set A

Scanned with CamScanner


https://v3.camscanner.com/user/download

3. Select a suitable figure from the answer

figures that would replace the question

mark (?7)

_(E—lé )

4. Find the missing pair in the series.

EQ, FS, HW, KA, ------- TL
A. OF
B. OB
G AL

D. AM

ST HATHIAIT H H STYh HATHId 1 =T

St s Faeg () ot afaeenfoa s

| E—Ifl?

-

<]_

sl
D. J:I'D’
ST § qH I8 %I J1d Al
EQ, FS, HW, KA, - 1L
A. OF

B. OB

C. AL

D. AM
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5.  Which number indicates the owners 5.  ohiT 9t G 37 °ifcienl <l Eﬁlﬁ FAT B ST

who are neither engineers nor good T sfSfaa 2 9 2 3 wwae
administrators
F = Good Administrators P
E = Engineers E = §TH
G = Owners G = "ifeish
E E

A. A. 4
B. 6 B. 6
C 2 C 2
D. 7 5. *

6. If a mirror is placed on the line MN, 6. 3Ifg MN%@T‘T{U_EEE&UTT@TW, ar fee
then which of the word is the right T2 H I I 9T 316 3T 7T 9762 T Tal
i]ﬂﬂgﬂ of the given word? Slﬁ-lﬁ'm%?

M

M

JUNE JUNE

N

N
A. INUL

A. INUL
B. 3nUJ

B. 3nUJ
C. 3nuL

C. 3nuUL
D. INUJ

D. INUJ
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7.  Select a suitable figure from the answer
figures that would replace the question
mark[?] from the question figure.

ﬂUI

EEEEE

8. If republic day in any year happens to be

all

?

on Thursday, which day will be

independence day?

A. Thursday
B. Sunday
C. Tuesday
D

. Can’t be known

9. Choose the figure which is different

from others.

01V

[\

S HATHIAIT H H STYh TSI 1 =T
S W4 AT o 947 s ol gfaeiud

HOTT?

il

U]

ATq fordT a1 VTG [4a® e I JATAT Al
AT foad fohd o v st

A. TR
B. i¥aK

C. HTAdR

D. Td 72! foha1 ST Gehal

I JTHId ol I ST 317 © i 2

V

L

(a) (b) (c) (d)
(a) (b) (c) (d)

A. (a)
A. (a) B. (b)
B. (b) C ©
& D. (d)
D. (d)
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10.

11.

12.

13.

14.

If 27+ 4=24%+8=32. then what
will be the value of 62 2.4 7

A 9 B. 10
C. 8 D. 12

Find the missing number.

A. 33
C: 133

B. 145
D. 18

In a certain code, ARMY is written as
ASOB. How is JUDGE written in that
code?

A. KVEHF
C. TICED

B. JVEIJI
D. JWGK]J

Which word does not belong to others?
A. Lion B. Elephant
C. Leopard D. Tiger

If HOT is coded as GNS. how 1s COLD
coded?

A. BNKC
B. DPME
C. EQNF
D. FROG

10.

11.

12.

13.

I 2’ +4=24%+8=32 A 6%+ 4
T 9T T BT
A. 9
C. 8

B. 10
D. 12

oIH ST I 1d hIfSY)

7 N\

N

A. 33 B. 145
. 135 D. 18
us (Af3q e 4, ARMY s ASOB fa@n

STdT 81 JUDGE i 39 whie § &4 forar
Sy

A. KVEHF B. JVEII
C. ITCFD D. JWGK]J

%I |1 168 THU | Halfeq T2 87

A. I B. grefi

C. dfar D. &9

3T HOT & GNS & &9 § I Fd &, d
COLD o1 &8 =T feram Stram?

A. BNKC

B. DPME

C. EQNF

D. FROG
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15. Select the correct combination of 15. ﬁ'ﬂ;TFE{HTﬁHUT il Hgfﬁd cae e il S
mathematical signs to replace the * I afereenfid s % for it w3t &

signs and to balance the given equation _ 1
T TS T I3

40*2%4*3*8
40*2*4%3+§

A +—t=
A +—+=
B. ++=Xx
B. ++=X
C. ++x=
C. ++X=
D. +Xx-=
D. +Xx-=
16. The relation between triangle, 16. f=fciiad 4 4 fore 3@ g frys, 9qys
quadrilateral and square can be best 3 9 F o gey 1 g9y 33T g
illustrated by which of the followin
4 . feRaT ST HeraT 7

diagram?

A0 O &0 )
O

@
.
: s
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17.  In the English alphabet, find the position 17.  S33STt quinTer § o8 217 ¥ L &1 T J1d

of L from left. shifs
A. 12 A 12
B. 16 B. 16
C. 11 Co11
D. 15 D. 15
18. IfS means ‘—, Q means ‘x’ R means 18. Efﬁ'S%fﬂﬁ‘—’%,QEFfaﬁf‘x’,Raﬂ
“+7and P means ° +  then s ARPHIT+ . Al

=9
IP45R 2Q 284=" IP45R 2Q2S4=7

A. 40

A. 40
B. 42 5D
C. 36 C a6
D. 46 =
19. 1£879=9,625=1and 586 =9, 19. 3R879=9,625=17qAT586=97%,
then 785 = ? ar785="2
A. 6 5
B. 7 o @
C. '8 C 3
D. 9 e
20. Find the missing letters in the series 20. s@er BKK, DMM, FOO, -------- ,JSS &
BKK, DMM, FOO, -------- , 188 W 3T&T I 14 e
£ Hlgh A. HLL
B HRe B. HBB
L BLL C. HTT
L. HOQ D. HQQ
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21. How would the pattern appear when the 21. fodier @ 9 UrEsi $te sl Jig 9 4T
transparent sheet is folded at the dotted ted fa@rs 2

line?

A.

- [R2

-5 QB.
B. E PR 9

<~

A

TR

22.  What will it look like when you look in 22. 1] SISTRL 45 4. T 29T § g8 9T
the mirror at 11:457 CE LIV
A 11:45 B 1215 A. 11999451, B. 1299 1519,
C. 1299451, D. 10 =S 45 .
C. 12:45 D. 10:45

23. Which of the given responses would be 23.  dfwrg gidfsranel @ 9 s 91 Al A |

in a meaningful order of the following H?ftllﬁs‘:h‘ﬁr 21T
in ascending order? s

2) 0645 hrs ) Mot

b) 1930 hrs b) 1930 51

¢) 1335 hrs c) 13354
d) 2000 hrs d) 2000 a5t

A. d,b,c,a B.adeh
C. abed [} ace.b.d

A. d,b,.c.a B.a.dcbhb
. ab.cd D. a,c,b,d
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24. Deepak placed his watch on the table in 24. diqek o YT TS HS W 39 YR W@t [

such a way that at 6 pm, the hour hand 31T 6 oISt 5 <l Y3 afern faem < 3T gn, ar
pmnts: to the SDU[h‘. In vtfhlch direction, a9 w3 e {ﬁﬁ?ﬂﬁ?ﬁ ¥ 2t
the minute hand will point at 9 pm?
A. NORTH s S
B. WEST B. ufzm
C. SOUTH C. =afeqor
D. EAST
D. g
25. U is the son of V X is Y’s mother and 25. U, VH A E X, Y i 4ra1 31T U i aedl
wife of U. What is the relation between 21 V 31T X T FI1 999 27
V and X?
A.
A. Sister o
B. Father-in-law B. §HT
C. Aunt C. 9l
D. Insufficient data D 39978 22T
26. If the given figure is folded to make a 26. g fu 7T fost 1 AigeH 99 ST ST, a1
cube, then what will be the number on 6 37 o Taaiia gdz o foha 37 9T e
the opposite surface of number 67? .
1
6 | 2 1
” 6 | 2
3
4|5
4 15
A. 2
A 2
B. 4
B. 4
C. 6
C. 6
D. 5
D. 5
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27. Which of the following will replace the

question mark?

161

A. 823

B. 169

C. 412

D. 256

449 ?

28. Seclect a suitable fi gure from the four

alternatives that would complete the

figure matrix.

L A

—

[IH

?

fFfafaa ¥ yafas 1 forae afawenfua
feRaT SITUTT?

161 449 ?

A. 823

B. 169

C. 412

D. 256

AR foreredl 4 § Uek 30H ST &l T
L SIT AT AT I T il

L A
A~

- L
"X
‘S
-
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29. Select the answer figure in which the 29. 39 IAL ATHId T I L (SHH T SATF(
question figure is hidden? et g5 82

rd k4
A 7
" [0
c. @ c &

« g

B.

[
Q0

30. If North-East becomes North and North- 30. =fz E?IT—‘IEJT I Bl Sie 3T Sa-afem ufsmy
West becomes the West. What will the oI SATC. o7 99 =7 Bl ST
East become? q;
A. North-East A, SUHE
B. North-West B. Sut-ufzm
C. South-East C. a'Faquj
D. South-West D. efaqurafim
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PART - 11

General Knowledge HHT AT
31. The remains of the Harappan 31. ggwr gwar & a9y F=fafad A«
Civilization were not found at the ST & §U-
following places-
A. Mohenjodaro s
B. Harappa B. weW1
C. Lothal C. argd
D. Ujjayini D. sswfr
32. Where does Andaman and Nicobar 32. 3wedH vg fAeR g7 9qE Fel a8
ie?
Islands lie” X £ @rd
A. Bay of Bengal
B. Arabian sea Sl
C. Indian Ocean C. fewzmmm
D. None of the above D. SUUHFHY El-ﬁé EH|
33. What is correct about ‘Fundamental 33.  fyrem = Hifass sifeer v 9 w0 w=
Right to Education’? 29
1) Previously it was the duty of states. : e
11) It was provided in the article 45 of ]) qgﬁ.q—a’ﬂa[ B h ?JITI+
the CﬂﬂStitUtiﬂn. ll) qe 'Flﬁﬁl'l:[ % a:lq'_" E@E 45 ﬁ. ‘JI'IEWITEIH
iii) By 86™ amendment it was o
recognised as Fundamental Right. i) 86 9 GYE & gRT 3 HifeTs AIFR
1v) It 1s provided in article 31A of the 1 e 4119
Constitution. _ .
. i o iv) I8 WlTa™ % 3T =3 3 1A |y
A. (1) B. (1) (11) 3
C. (1) (1) (111) D. (1) (1) (111) (1v)
A. (1) B. (1) (1)
C. (1) (i1) (iii) D. (i) (i1) (iii) (iv)
34. Type of vegetation found in Sunderban 34. geare ¥ fope YR i awtd uTg STl 82
> A. SUEHHHT GEERT
A. Tropical evergreen .
B. Tropical deciduous e &
C. Montane - temperate C. wdldT - =i
D. Mangrove (tidal) D. HUF (Sa)
SPACE FOR ROUGH WORK / T& &1 & fo12 912
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35. Insulin was discovered by- 35. ﬂﬁﬂ & @i fora i

A. Laennec A gﬂg:ﬁ.,—:f
B. Banting and Best B SEraded
C. Jenner
C. SH
D. Waksman
D. dreEdd
36. A teacher finds out the subject related 36. us f3reqen T ° dal ol foavg et
difficulties of the children in the class. FISATZAT T UdT SATTAT 2 S HiSAT2dT &
He plﬂl"lﬂ Fhe next lesson to overcome a7 T 3 AU STt GTa ST ST 2
these difficulties. ™ _ |
What he will be doing among the T fefafd 7 @ = 1 @1 w7
Lol pwimEy A. HIEH o1 3Tk
A. Assessment of learnin
= B. i 3 fer smeher
B. Assessment for learning ‘
. C. i@ % &9 H 3Tehad
C. Assessment as learning
D. Assessment for ranking the student D. feremeff =ir it yam 4 o foe
Hlehcdd
37.  Which of the following pair is not 37.  fqmfciad @ 9 = |1 3w gafed T3 82

correctly matched?

. S 91¢ — 915 35
TATI St UTeH g — SfeThid

A. James Watt — Steam Engine
B. Alexander Graham Bell —

o N0 w »

Telephone . . U, d9E — eftfase
C. J. L. Baird — Television 3 grfeg _ AR
D. J Perkins — Penicillin
38. Which Asana is helpful in maintaining 38. I 9T ITE T7H &19 I THT I410 7@ §
normal blood pressure? e BraT 22
A. Shavasana A STITEA
B. Padmaasana
B. TEHR
C. Shalabhasana
D. Vakraasana C
D. 9d&Ed
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39.

40.

41.

42.

According to Chhattisgarh Economic 39.

Survey 2022-23 based on the prevailing
price of Net Domestic Product, Advance
Estimates of State’s Per Capita Income
18-

A. 1,33,898/-
B. 1,70,620/-
C. 1,35,330/-
D. 1,40,898/-

Uber Cup is associated with which 40.

sports?

A. Cricket
B. Golf

C. Badminton
D. Hockey

A total number of students enrolled in a 41.

school from Class I to Class V are 60.
How many teachers will be required in
this school under Right to Education Act

20097
A. 05
B. 04
C. 03
D. 02

What 1s correct? 42.

1) Both houses of State Legislature
assemble together.

i1) Both houses of State Legislature can
consider on any maltter.

. (1) 18 correct
. (11) 18 correct
. (1) & (11) both are correct

O 0O W >

. (1) & (11) both are wrong

ST AT GHta 2022-23 Haa s
BC] 3418 o Y foTd |Id o TR YL ST &
yfd safth 3 % HfUH FAE 0 2-

A. 1,33,898/-
B. 1,70,620/-
C. 1,35,330/-
D. 1,40,898/-

39T Y for @ U weifera 27
A. foreke

B. %

C. dsffieq

D. ®rehl

e [oramerd | &l 1 — 5 de ° % 60
ferammeff Amqiferd 21 39 faemaa 4 ferem <
FrfereRr At 2009 o forae fSrerent <t
SIS BITT?

A. 05
B. 04
C. 03
D. 02

& T =Y

i) =T faammues o 2HT 98 U 91y
d3d &

ii) =9 faamauesr & gFT g fordt fawr
77 faam T gehd )

A. () Tde

B. (ii) &g &

C. (i) 30 (i) AT EEr 2

D. (i) 3 (ii) 341 Teid &
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43. Which of the following document 43. fefafad 9 9+ 91 gEards At &

focuses on constructivist approach to TEFTATET gfehIoT OT hiesd 87
learning?
A. National Education Policy 1986 2 m;ﬁzrﬁmﬁﬁ b
B. National Curriculum Framework B. WW%WZOOO
2000 C. TS urear=rat shi T 2005
C. ;J{?{t};ﬂnal Curriculum Framework D. Tt feram if 1968
D. National Education Policy — 1968
44. Match the following List-I with List-II 4. gfi-1 o gei-11 1 gafaa ifse o i
and answer the following question. ﬁqrﬁag ﬁqﬁwﬂﬁ?}.
List-I List-I1 ;LEﬁ_I IED[.II
Discoverer Discovery  CISEDI g
p. Jenner 1. Blood Group p. ST 1. K_ﬁnaﬁ
q. Watson 2. Penicillin q. ATeEA 2. ufHfaes
r. Landsteiner 3. Vaccine r SRR G C Al
s. Fleming 4. Double Helix Model s FATHT 4. fegueat
Code- Fe- )
A. p-3,q-1,r-2,54 A. p-3,q-1,1-2, s-4
B. p-3,q4,1-2,5-1 B. p-3,q-4,r1-2,s-1
C. p-3.q4.r-1,5-2 C. p-3,q4,r-1,5-2
D. p-3.9-2,1-4,5s-1 D. p-3,q-2,1-4, s-1
45. In which State, mineral - Lithium 45. et €1 | eAierm @it o wueT iR Tea |
deposits has been found recently? CISRID
A. Madhya Pradesh A TET TR
B. Chhattisgarh
C. Jammu & Kashmir . ——
D. Rajasthan C. SH-THT
D. TS99
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46.

47.

48.

49.

S0.

The Rigveda describes the following
regions of India-

A. Satpura mountains
B. Sindh
C. Punjab
D. Sapt Sindhu Pradesh

‘Vasudhaiva Kutumbakam ' 1s related to-
A. Katha Upanishad

B. Chhandogya Upnishad

C. Maha Upnishad
D

. Shrimad Bhagwatgita

Birth place of Gautam Buddha-
A. Vaishal

B. Kapilvastu

C. Lumbini forest

D. Rajagriha

Which of the tfollowing years has been
declared by The United Nations General
Assembly in its 75" session as the
“International Year of Millets™?

A. 2021 B. 2022
C. 2023 D. 2024

If the Gross National Product (GNP) i1s
greater than the Gross Domestic Product
(GDP) then,

A. Import = Export
B. Export < Import
C. Import < Export
D. Import # Export

46.

47.

48.

49.

50.

Fde § Y9y o [efafad & 1 auia

s

qAYST 94

fieer

CEIC]

T Feray forud Hefed -
A. %3 3MHTE
B. BM<rd 3MHTE
C. HeI3IHYE
D

o N w »

-
. nlHcidd
g

A
B
C. qftertad
D

. T8

ITh T HEMWT g0 75 9 SAfed e 9 “HIe
(Millets) SHTSIT &l 3qse g 99 = 7 @

forer o =hr enfeya fopam w82
A. 2021 B. 2022
C. 2023 D. 2024

Hohel TS 3cUTE (STTTT) Hehed B 3cUT

(STEIdT) & FIST BraT &
A. ¥ = fafa
B. fama < sm™ma
C. 3 < faia
D. 3 = Haid
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PART - 111

Educational Interest

S1. Which of the following qualities will
you look out for in a person when
recruiting for work?

A. Dedication

B. Hard work

C. Interest in profession
D. All of the above

52. Psychologists consider ‘discipline’ to
be-

A. Doing the right thing only when
punished

B. Follow the rules
C. Follow the rules automatically

D. Stay well

53. Factors which affect a child’s physical
growth and development are:

A. Heredity
B. Environment
C. Neither heredity nor environment

D. Both heredity and environment

54. Which type of learning is concerned

with perception of things to be learned
by primary sensory organs?

A. Sensory
B. Cognition
C. Verbal
D.

Discrimination

51.

2.

53.

54.

foreror Srferster

T o feAT st shd aa 31y foreft oafer o
frfefaa & @ =9 @ o1 3@

A. Gudor

B. FEIHgTd
C. U3 4 &
D

A
B. frawi = e i

C. I =1 =q: 9 =t
D

. TR TR

= 3l wRITE gfeg 3R faere =t yifaa
A ITcl A &;

A. SATTETRTRAT
B. 9T

C. T AT T G0

D. & RTeRaT I G2iawor 1

st e o fergr wepm shi fRvat o1 Geie 22
A. TS

B. i
C. Hifa®
D. 9eqE
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55.

56.

57,

Which transfer of learning refers to the 55.

transfer of knowledge and ideas where
the learner stays within the same
behavioural category in making the
transfer?

A. Positive transfer
B. Vertical transfer
C. Zero transfer
D

. Horizontal transfer

In terms of communication, most online 56.

platforms of teaching and learning are:
A. Synchronous
B. Asynchronous
C. One-to-none
D

. Tied to specific timeframe

You are a teacher at school. You have 57,

been teaching chemistry to students for
the past 2 years. Recently, the physics
teacher resigned and the principal asked
you to teach the subject for a few days
until a replacement was found. You
will:

A. You reject it with
B. Acceptit

C. Be angry because this is not your
topic

D. None of the above

"G T I 9T S&diawr I 3 fa=ami &
SEATAL0T <l G fHd HIdT & STel diE JraT
TATTA0T oA | U & SIaaliieh vt |

®dl 87

A. HFREIcHS TIHETGT
B. R TG0
C. I TIFTT

D. &fqst TaHan

T o Gy ¥, fIreror 31 i o stferepin
HATTATEH WITHIH o

A. gﬂml%m

B. HAdcdehlicieh
C. U&H-U-%Is T8I
D. fafsrs uua dmr < fau

31 foremera o freres 2 39 fusa 2 awf @
SHEI ! T ITH UG R Bl BT &l 1,
iferehl o 3187 7 ST 2 T3 31
JIHTERE A 3%kl % a1 o fg fawa
TeM & fou ==, i a<k 6 S afaeemT
Tl e T

A. 3T 3Y SRATHR Fd &

B. 39 TR Fd 2

C. ShITerd BId i I8 3TYeHT faw 72 ©
D. 39 | ¥ IS TEl
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58.  Which step is prominent in the syntax of 58. wgfa waw 37 Twer T o f3remr died &

tEﬂChil’lg model of memory level and W_ﬁqn‘g ﬁ—cﬁ:[ T Wg‘ﬂ'@%‘)
understanding level?

A. Planning A,
B. Exploration B. ¥f=mw
C. Presentation C. Ellﬁ’ﬁr
D. None of the above D. 39 H 9 IS 781
39. It is preferable to start the classroom 59.  eT G Sk EATT - H AT S8 ol
communication with---------- ; &
AT A1
A. Listening commands
B. Anecdotes B
C. Unrelated questions C. JTHetId vy
D. Casual comments D. 3T fewfurr
60. n which of the following skill, testing 60. frfetiad | § foh| el 5 94 19 1
of previous knowledge comes? qETeIOT 3ATAT 22
A. Skill of demonstration A geghT T rerer
B. Skill of introduction
B. Ui=d &I hivrel
C. Skill of stimulus variation
D. Skill of closure C. SIS Frell
D. 2% &1 v
61. You only know Hindi. You are going to 61. 37 hae fEdT Sd B 19 3T TEH
Tamil Nadu next month as you have a qfieTe ST @ & i 98 3maeh! St 2
job there. You: - 2
A. Go learn their language while - :
you’re there A. ST 3ATT 981 Bl df 3kl 9INT €@
B. Start learning Tamil B. Hﬁﬁ?ﬁ'@mﬂﬁaﬁ
C. Right away quit your job because C. qad A9 A1 SIS 21 Hifeh a9 afia

you can’t learn Tamil T8 g g
D. None of the above . ,
D. 39%h H § IS Tel
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62. A teacher decides to form six groups of 62.

63.

students and assigns a sub theme to each
group for discussion and reporting.
Which kind of communication model
will best describe his/her strategy in this
regard?

A. Transactional model
B. Interactional model
C. Horizontal model
D

. Linear model

Given Below are two statements: 63.

Statement I : Communication i1s viewed
as one of the social factors that
influence the society including
educational institutions.

Statement II: Communication does not
help develop, maintain and change
cultural settings of any society for that
matter.

In the light of the above statements,
choose the most appropriate answer
from the options given below:

A. Both statements I and statement 11
are correct

B. Both statement I and statement 11
are incorrect

C. Statement I is correct but statement
IT 1s 1ncorrect

D. Statement I 1s incorrect but
statement II 1s correct

T X187 BT % B8 998 oM H HU
oidT & 3 ==t 30 fgifén & foau g
UHE I Ueh 3U-TI9 Y& HLaT | 39 Hag
9 ToFe Yh I ohT U9 WISl SHeRT WA o1
e 37T I SHTTT?

A. ZEREA Higd

B. M Aied

C. gfasdiea

D. @ died

ﬁ%ﬁwﬁqw%

FUA | : TR 1 &Ik TEATET Gied THTT
T I & a1l GTHTISTeR Shehl | O U
o ®Y H ¢@T SdT 2

U 11 : G991 39 919 o foaru forddt oft
THTS 3l FIERIe He™ ol fTehid H,
SHTT W@ 31 e | a2 981 HdT 2

39T AT o AT H, A1 fag g
forereal 4 © ge 39eh 3L T

A. FIF [ I FHIA 11 3T Tl 2

B. &Y I 3T 11 3HT 7Teid &

C. FYT 1 Yel 8 AfhT 99 11 Ted @

D. % [ 7TeTd & wifeh o 11 9el 8
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64. You are to complete a course within a
month to qualify for a promotion that
you wanted your response will be-

A. Take the entire one month time to
complete the course

B. Complete the course at early as
possible

C. Complete the course at early as
possible and also refer to other
sources for more information

D. Ask for more time to complete the
course as you want to be through
with it

65. You have been unemployed for a long
time and now you have received a job
offer in a kindergarten, but you do not

like being with children, so:
A. You reject the job offer
B. You accept it only for a short time

C. You accept it and try to have fun
with the kids

D. None of the above

66. If a teacher finds a problematic child in

the class, what should he do?

A. Send the child back to home
immediately

B. Ignore the child
C. Punish the child

Provide counselling to the child

=

64.

65.

qei-td o fore sar wie = & faw stmaenr
Ueh HelH o Wit Ueh shid 9 1 o, 59
emam%r o fop Hﬂﬁﬂﬁmﬁ’ﬁ:

A. FE T FH o {0 7 v 7EH 1
o

B. UTSHSHH i AT T i

C. UTSHSHH i AT T i 3 e
ST o fIU 31=1 =rai ot off dasf o

D. 9T3FsHH %l T & o fTu siferes g0
IT8d 8

39 S THT U SR © 37T 376 39eh!
feheamea o et 1 TEaTa e B, wiferd
3T ST o YT T84T JHE 781 id s,
(T,

A. 319 e hl USTaRIT bl STEE TR hid
g

B. 3119 3 UTe G99 o fofu & e &
g

C. 319 Y T b hid & 3T =l & 91
Tt o h ShITSTST *Fld @

D. 39U H U e T8l

afe uep f¥rerer e § Uk gued aed &l
qTdT &, a1 39 =T R I1eu?

A. = I Td I ATE HS 3
B. a<d I 3U&T

C. oo i eg T

D. s=d &l HISTTAT L

SPACE FOR ROUGH WORK / T& & & fora Jre

20362-MYWLN-PRV-XFYX-E

23

46 Set A

Scanned with CamScanner


https://v3.camscanner.com/user/download

67. Which of the following statements about 67. s=ai % 9N ¥ frfafaa o @ = a1

children is correct? et 29

A. Children are passive recipients of A TIIAFH AR 5
knowledge. :

B. Children are problem solvers. B. S {HEAT HHTHMHRAT B1d <l

C. Children are scientific investigators. C. o=d dFTi+eh 39 Bid ol

D. Children are active explorers of the D. o=3 19T % Gfsha 3799 B

environment. e 5

A. A, B and D are correct & A, D&l

B. A, C and D are correct B. A,CBﬁIDHEﬁ%

C. A, B and C are correct C. A,BBﬁICH“Eﬁ%

D. B. C and D are correct D. B,CGﬁTDH'Eﬁ%

68. You are scared of inflowing deep water 68. SEUTHEE U :G'ﬁE:IT%F) SHTLOT 3T 7L I
because of a childhood accident, but gagd 31%%‘, AR 3TTIRT a8 3731
your best friend constantly asks you to 3R SATTY ST 43T Wi o e et
learn to swim., then: %a dl-

A. You try to swim half-heartedly A. 3 341%-3133 9 9 A A1 IR Fd
B. You try to learn to swim with full ?
anthusiasm B. 31T X 3cATE o AT dTAT HigH &1
: . I Fd &
C. You won’t learn to swim
C. 1Y 3T T8 €H@nl
D. None of the above + +
D. 39Uk H U ks T80

69. Which one of the following is not an 69. f=fefigd o @ #= gusT guTg™ 9 °rar
obstacle in problem solving? T 82
A. Anxi .

ﬂKlEt}’ A rﬂ?ﬂ

Negative mental set

B.

. B. ThIcHs: HHHH 92
C. Insight
D.

Frustration C. 94

D. farsm
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70.  Which of the following is not related
with cognitive domain?

A. Knowledge
B. Application
C. Valuing

D. Understanding

71. The determinants of individual
differences 1n human are related to:

A. Difference in their heredity

B. Differences in both heredity and
environment

C. Interaction between heredity and
environment

D. None of the above

72. This type of counselling involves people
who drop out from school and whose
difficulties are likely to be more severe.

A. Community based counselling
B. School based counselling

C. BothAand B
I

None of the above

73. Ifyou’re typing at slow desktop typing
speed, which 1s the main reason for slow
growth at your previous jobs, then:

A. You will try to improve your typing
speed half-hearted

B. You will fully-focus to improve
your typing speed

O

You do nothing

None of the above

=

70.

71.

12,

13,

frefafaa 4 @ < ar agMTcas sEa g
Heiferd T8l 82

A. FH

B. &

C. ¥ fagio

D. @95

qHa | dafhes famarsil o fraie gefea

:

A. I STHERTRAT §

B. JTHERTRAT 3R 9ATaR0 SH1 H 3

C. 3ATAfrehar 3T qafawvr & sfi=
HEHIT

D. 39U H © IE 781

9 YR ol SHISATT H o ANT I BId @

ST Tt Bl 3d © 3R SRt srfaarsat
1ferer T B R ETeET Bidt 2

A. TR ATaTid g

B. kel e W

C. A3RBaHI

D. 396 | U &I3 Tel

It AT et 71fd ¥ 218 IR B, S AT

fraeft et & it gfea 1 qer Fror e,

.

A. 3T AT A H IT9HT TS0 TS
QETH T I HT

B. 319 39T 21T i # gam i
fore ot e @ e hfad i

C. 319 &3 781 Fid o

D. 39k ¥ ¥ I3 el
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74. An individual underlying potential for
acquiring skills 1s known as-

A.

B.
.
D.

Intelligence
Personality
Aptitude
Value

75.  Which type of attention makes an
individual exercise his will power in a
single act to assign a work?

A.

B
C.
D

Implicit

. Non formal education

Involuntary

. Explicit

76. 1t is important that the teacher does not
segregate children into fixed groups
based upon intelligence quotient (1Q)

as-
A.
B.
.

It 1s inconvenient for teachers
It 1s inconvenient for schools

It does not allow children to
compete among themselves across
groups

The concept of IQ is not stable and
it also leads to labelling of children

77. A suitable method of teaching primary
class children is-

A.

B
C.
D

Trial and error method

. Imitation method

[ecture method

. Play way method

74. YIS ITH A o foIU Uk oafh sqdfdfed
&THdT o ®Y | SIHT SI1dT &-

A
B.
&
D

Hfthed

il |
. U

L=

75. for® YoRT T €99 Uk oI Tth ol Uk
gia o foru 37T g1 9Ifh 1 ST SRt

22
A.
B.
o]
D.

ffea
gt fre
iz Hh

o

76. g gEAYUl © foh &1k qfed wiTHd (1Q) &
TR 9L S=d| I (120 THaT 5 T 7 Fi-

A.
B.
L.

78 rerhi & fore srgfaarse &

7% foreneri & fau sfaarsyes
I S=d1 I GH&1 § 399 | Yfaeadf
i T STTfd T8 4aT1 8

HATEH TSGR Lo 727 © 371 309
S=al 9 At ot Bidt @

77. grafies & & s=al l UGH Hl 3UIth
fafer 2-

A
B
L
D
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78.

7.8

80.

Which law of the Gestalt Principle of 78.

the perceptual organization states, that if
enough shape 1s indicated, people
perceive the whole by filling in the
missing information?

A. Law of closure

B. Law of similarity

C. Law of proximity

D. Law of common fate

The key to effective listening by 79.

students in a classroom 1is-

A. Sympathy towards the teacher
B. Interest in informal education
C. Empathetic learning
D.

Desire to memorize

One of your colleagues asks you to 80.

assist him in his personal work during
working hours, what will you do?

A. You will help him immediately

B. You will tell him to wait and help
him after working hours

C. You will not help him at all, as it is
his personal work

D. You will tell him that he should not
be asking people to help him with
his personal work

STTLTOTCH 13T o TeTee fUeaid
9 91 faw sarar 7, for afe gy s =
Tehd T2 SAT4T 8, 91 SN AT9dT SR )
SR WU ST Fd 87

qfdfrem (rettsi =t fam)
QYT 1 HI|

ECTGIEIRER L
HTHTT ST o7 (499

o N w p

3ATUHT Ueh UEHHT SATqH HTH o Hel &
39 it 19 ¥ e 1 & fau Fear e,
31T T 9

A. 31T 3G T 7S HIA

B. 3719 3 %19 o =21 & 91 Sds &4
31T 3Tl e i & fqu e

C. 319 39! feresper i g 78 &4,
1T I8 3GhT {4t &y 2

D. 319 39 Jqrui o 30 394 st 1\ o
AT & Hag T8l HivHT F1feT
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General Hindi

81. 9 9T Ie2 3T T TATIT= T2 &2
A. &
B. Pz
C. HU%s
D. F-ad

82. faifera W 9 9T aT9g el &7

A. 3 YL H 974 el TE

B. THM <1 W H oTd el T8
C. QL3 H 91d el 715
D. GYUl 331 9L H d1d %ed g

83. @ & diF UTa’ AAlehITch 1 Ual 379 8-

A. feufa = afadasiier gmr
B. fauy T
C. Tefa o =i aitad 72 g n

D. &R — 91 dld sqeddTl

34. %r@lﬁ?ﬂlﬂiﬁw FHEATd e-
A, o T
T LT

B.
C. 93t &
D.

TTH U IS TRl

PART -1V

85.

86.

87.

38.

qmaT= Bt

T’ 9168 I °T Td4TH 22
A. IHaOES
B' “J

C. Fsam=®

D. Afgaar=s

[T bl SITCTeRt oah ST ohT ShISTeT el
7T &-

A. TG HIETA

B. @l SIvTd

C. Higs ATveAh FIee

D. drd FHIN

ST T # e STl AT <614 o1 BT gl

oITd AT 1M < B4 92 fi ear ®, 3 form
YehT T T ad &7

A. FoSdIdh dId]

Y
B. Y<hddid<h dT

C. Hogdrad a1
D. faumares ars
ferr et i 3fe & 19 @1 a1 YR =7

A. HI 492 U FaT - Td 81 TS, el TSN
B. |99 U el - Td &I TS, Thel JT3?

C. U428 Fel - “AI Tl 8, Fd
T3

D. |99 U FeT - Td Bl TS, e -
I
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89. IgcTdr HIT 9T UHTH 27 90. <=t forg e <67 3188 B2

A. FHITT GHE A. gauTett
B. AeadivTg GHTE B. Ml
C. wgsiite aqmE C. dma
D. §<HHH D. i

SPACE FOR ROUGH WORK / T% &1 & ford 57T

20362-MYWLN-PRV-XFYX-E 29 46 Set A

Scanned with CamScanner


https://v3.camscanner.com/user/download

PART -V
General English T ST

Read the following passage: 91. Which word of the passage means

_ ‘ o ‘tendency ?
There 1s a wonderful spirit of

sociality in the brute creation. Many A. Menacing
horses, though quiet with company, will
not stay one minute in a field by
themselves; the strongest fences cannot
restrain them. My neighbour’s horse
will not only not stay by himself abroad,
but he will not bear to be left alone in a
strange stable without discovering the 92.  What other animals, as per the passage,
utmost impatience, and endeavouring to dislike being alone?

break the rack and manger with his fore-

B. Endeavouring
C. Propensity
D

. Sociality

feet. He has been known to leap out of a A. Shecp

stable window after company; and yet in B. Dogs

crt_her respects 15.remarkably quiet, but B Come

will neglect the finest pasture that 1s not

recommended by society. It would be D. All of the above

needless to instance sheep, which
constantly flock together.

But this propensity seems not to 93. In this passage, the ‘brute creation’ has

be confined to animals of the same been used for-

species; for we known a doe, still alive, X Thaboies

that was brought up from a little fawn

with a dairy of cows; with them it goes B. The dogs of the house
a-field, and with them it returns to the C. The doe

yard. The dogs of the house take no
notice of this deer, being used to her;
but if strange dogs come by, a chase 94.
ensure; while the master smiles to see
his favourite securely leading her

D. The dairy cows

What has one particular horse been
known to do when left alone?

pursuers over hedge, or gate, or stile; till A. To stay in a field for long

she }*eturns to the caj.us, who, wnl? fierce B. To leap out of the stable window

lowings and menacing horns, drive the

assailants quite out of the pasture. C. To drive away the assailants quite
out of the pasture

Now answer question nos. from 91 to D. To go a field and return to the yard

94 based on the above passage.
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95. Choose the correct spelling:- 98. Which of the given words is an incorrect

* 9
A. traffic form?

B. ik A. Injustice
C. traffick B. Unjust
D. trafik C. Unjustice
D. None of the above
96. In a job advertisement, many vacant 99. A medicine that destroys bacteria is:-
posts have been advertised. And the
same advertisement has a clause that A. Antibiotic

reads — “The candidate may apply for
more than one post.’

B. Antidote
Here 1n this sentence ‘may’ means-
A. capability C. Antiseptic
B. advice
C. possibility D. Antibody
D. volition
¥ s money the poor widow had 100. Read the following statements:-
collected over the years was stolen. [. Isaw him steal the money.
A. Little I{ [ saw him stealing the money.
B. A little A. Only I 1s correct
C. The little B. Only II is correct
D. Soihe C. Both I and II are correct
D. Both I and II are incorrect
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46 | SET A

IR ifohd S AT OHT ; 262 terehaw 3ieh : 100
Time for making answers : 2 Hours Maximum Marks : 100
e
1. 39 Wy qfeaeht § 100 W¥ & — Wk W7 01 37k 1 8 | At 0 S AT 7

qrr | T Sht AEAT | ek

I | o= aetes grgat 30 30

11 qaE-a 7 20 20

11 | Toreror srfsrsi 30 30

IV | ame et 10 10

V | amea st 10 10
2. i %Wﬁﬂ?OMR'ﬁl‘{—iﬁZ{answer sheet}q'{aiﬁ"ﬁr Eﬁlﬁml
3. TAUTTCHeR Hodiehd Tgl fohaT SITa |
4. ToRET ot TE o HTHE AT AN S TS HIATSA I hi TR Jid 2 |
-~ 8 OMRET-IT—{?ﬁE(answersheet)wmﬂﬂﬂmﬁﬁaﬁémqmﬁﬁﬂﬁﬂgﬁﬁﬁm

IOH HIE AT fHeae oTie U 91 91 9 @Ud g 9H |

Note :

. This question booklet contains 100 questions each question carries 01 mark.
All questions are compulsory.

Part | Particular No. of Questions | Marks
I | General Mental Eligibility 30 30
I[I | General Knowledge 20 20
[II | Educational Interest 30 30

IV | General Hindi 10 10
V | General English 10 10

Indicate your answers on the OMR answer sheet provided.
No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

h B Lo

spoiled due to folds or wrinkles.

While using answer-sheet care should be taken so that the answer sheet does not get torn or

SPACE FOR ROUGH WORK / T% &1 & ford 57T

20362-MYWLN-PRV-XFYX-E 32 46 Set A

Scanned with CamScanner


https://v3.camscanner.com/user/download

lpur

Pariksha Mandal Rai

Model Answer

avasa

Chhattisgarh Vy

Pre D,ELEd Entrance Exam 2023

(Exam Date : 17-06-2023 Time :02:00 PM - 04:15 PM )

-PRV-XFYX-E

Exam/Subject Code : 20362-

Se—

"_.} — . - -
a E
HAD & Al @) alie} O] alL.dall JfaRl. ] al Ol Al A ISTISIF IS all Qi d L Edlal ] Fal IS] ISIEJ IS IS ISIEA o] [S11-- 1 IS] IS [S]1 A A=) f
77 1
-
|
WBB ™ 8
= U 0 <AL |IVIVIAMAA|Li<|l<lalviAaluiv|al<lalalmlalv|violulu]|<cluialclal<c|luv|alduo|lvialul« Q «
o
o
1
D 3
HDB < o AEE@OIAImILI<|U|<|a|lLIn|Lv|aemm|L|Lialal<ivAlul<|iv|v|vimal<|lvimlalu|lul<l<lalu ﬁ
7 ‘.
e
¥
- -
HDE () mimr|p<|OmLAlamr|L|C|lL|<|alo|<|alal<|va|v|<|viviv|alalu|<ialv|aldlal<dlalulul<lu m
W *w
o
} M
4 :
% @@ A R|R|RD|B|S|S|3|2 88|52 |22 r|RIrIZ| |k RBZ|S|2]3|2|8|5 (228382288582 S
=
HHA m A< Qna|<|U|ILiInmnm|L[Aal<d|lLia|ldla|lalal<a|<lald<c|luvialomoloialulvaluluialulo ﬂu
L 5]
5
o
HCD m < <|AmoAaa<alglalLa|<(olalal<lalaal<clalolu|v|alale|alv|uoluimlalolul<l<cialulv
)
S
HBA m mAal<|iam(<iamlai<(ialuiuiv|i<|alaelaalLialdl<ialalglo|lu|<lu|u|u|lulalul<lalulalululml o _
on
¥
MBE ] - <|<|VAd<mAldml<iAlnplRl<iaamaal<|lalu|o(alalalal<e|l<c|lo|al<|lulv|o|laluiululo nm
on
|
=
- ™~ ur
Mlz Al R ol ol A = R ] ol Y o o . o o el Fa i DA o B B B B g B ol ] i - ol - B Bl ) o o ] B ol ]
L 1L I L gl b |L||_|

Scanned with CamScanner


https://v3.camscanner.com/user/download

